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INSTRUCTIONS:
1. All questions are compulsory.
7. Write answer of each section in separate answer b
3. Figures to the right indicate marks o questions.
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Define unit step function. Express given function in terms of the unit step function
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Find a Fourier series for the function: ) = T, fouD e

Find a Fourier series to represent fX)=x-x*, ~r<x<n

LoapTEeN e e

Hence show that e T e i ket
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Find the half range sine series for Sl 4
; (7w —x) Vi3
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Find a Fourier series to represent: Jil)= x ) < T
7 1 1
Hence deduce that: — = et 4
6 1 %
= T s o e ()
Find a Fourier series for the -
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Hence deduce that :
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Find the half range si ies tofepresent f(x)=xsinx , O<x<z

Attempt an Q
State and Prove com¥olution theorem
s '

(2) L{ sinh4rs sinh2¢}
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SECTION - 1I

2 4 (12)
[A] Find the root of f)=x-x-1, using Newton Raphson method correct uM

decimal places, taking initial point a = 3.

: a -
[B] Find the root of —d—i = v(1)=2, using Euler’s method at x =45 in five st.

Vo

[C]  Solve the following system of linear equations using Gauss — Seige!

L 4

OR
(12)
[A]  Find the root of equation x* —=3x +4 = 0 by usin sition method correct up
to three
decimal places.
Obtain Picard’s second approximate solu f the initial value problem
B
d_y =x%+y?, »(0)=0For x o four decimal places.
e
[C] Solve the following system’o inedf@guations using Gauss — Jorden method
2x+y+4z=12, 8§ \ Ax + 11y - z= 33,
Que-5
[A] State & Prwe 3 ’s thedfem. (03)
Bl If fiz)=n+i n tic function of z then find f(z) where (04)
u~v=e*(Cosy—Sip) ;
dz. (04)

[C] Evaluate : 5 where ¢ is the circle ]z——2[ |
Z

‘OR

ad the Bilinear transformation which maps the points z =2, i, -2 in to the points  (03)

(04

: : &
§ [B] d an analytic function whose imaginary part is (x2 —y2)+ i y2
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. 4
[C] Evaluate : [ o where ¢ is the ellipse 4x% +93? =] )
g2 a2 &
Attempt any three: \ 12)
[A] . 4

2
Evaluate: f sin x dx by Simpson’s one third rule using 11 ordinat
0

[B] Find f°(2) & £’(2) from the following observation table

X 13 ) 2.5 0
Ey 20 S

S T 13.625 | 24.0

[C] Following table gives the population of town. Find
during 1946 to 1948.
X 1910 | 199f F 19w

Raay 12 15 20

N
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